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| Time : 3 Hours 15 Minutes | [ Full Marks : 70 |
wrrETerat & ferd fdr - _ Instructions for the candidates :
1. uviemet OoMR I UAF WY AU 1. Candidate must enter his / her
o gRAsT FIE (10 dH B0 Question Booklet Serial No.
AHFvq ford 1 (10 Digits) in the OMR Answer

Sheet.
2. ’???HTW? ?3?1’7??'1?3 H9H' I H Bl 2. Candidates are required to qive thetr
Il q/ answers i thewr own words as far

as practicable.

3. g S E?ﬁﬂ# L4 f':;’?TEU AHF qulis 3. Figures in the right hand margin
Ffre #3a &

indicate full marks.
4. W FH GEAYES vgd F w4,

S 15 minutes of extra time have been
gi? imﬁaiga’_}}Sm:-‘E 1 e gag allotted for the candidates to read
|

the questions carefully.
5 T W ylEr 3 o@vel F & _ s

. This question booklet is divided into
Gre-31 19 @ug-a|

lwo sections — Section-A and
Section-B.
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6.

avs- # 70 aEgrE ¥ & fd 6.

4 fEet 35 wet @1 FAv AW
Ffmard &1 35 9v1 & i F7 I
37 @ wuH 35 & & yediET &
gF & o 1 %% FuiRa &1 e
I 34 & [oT0 ITcTe FF T OMR
I-UAF H Ry T W@ ey &
Hd / FA qT 97 T IR F
fedt Wt wEw & WgeAr / W
Wﬁ/ﬁg/wﬁrﬁ‘a?‘om
Fv yaw # gahr & A 8
=T qieT aftomre sr\T=T gt

gve -  § 209 IIT VT E |
vEE & e 2 & fAuiRa 8, fd
g fegt 10 @y I I dW
stfrard # 1 e AT 39 @S §
6 2 gweta wy A ma & vEw &
fw 5 o Fifa &, fd @ feRt
39y &7 IT 37 A &1

feat s@R & FoIIHE IJTPIUT F 8.

T ot afer & |

[117 ]

In Section-A, there are
70 objective type questions, out of
which any 35 questions are to be
answered. [f more than 35 questions
are answered, then only first 35 will
be evaluated. Each question carries
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct option
on OMR Answer Sheet prouvided to
you. Do not use whitener / liquid
/ blade / nail etc. on OMR Answer
Sheet, otherwise the result will
be treated invalid.

In Section - B, there are 20 short
answer type questions, each
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from these, there are 6 long
answer type gquestions, each
carrying § marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohubited.
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(117 ]

WUS - A / SECTION - A

a’&‘:{ﬁ"ﬂ'm / Objective Type Questions
ma‘rmwﬁmﬁvw?} frd @ v wat 21
oamsﬁzwfa@#ﬁaﬁfﬁrﬁasnﬁwm%:

35x1=35

gver gEar 19 vo TF & WAF

m#gmg#waﬁﬁamm?

1 1 You have to
Question Nos. 1 to 70 have four options, out of which only one 1S correct. You

1 1=35
mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35 x

1. Wﬁwqmﬁmm%wmm&

(A) Pau =Erms cos ¢ (E} Pau = lrers cosé
(€ Pau = Erms J'fﬂrns: sin¢ (D) Pau = Erms JTnrﬂs cos ¢

The expression for real average power in an alternating current circuit 1s

(A) P,=E_ . cos o (B) P.,= I_ o cos ¢
(€) Pav = Erms I s sind (D) P,=E s Irmscos ¢

2. i 1O o S Bl 6

R Z
& 7 B 5
(C) R.Z (D) W.L
Power factor is equal to

R Z
& 3 ® =
(€) R.Z (D) W.L

| B |-— 3003-(s9/60) Page 3 of 32
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(1 ) aRgw 8 FER @ R

1wk

(A) sin”! (%} (E_?] cos (?]
: »

@ [%) (D) tan (E)

; -1{ ol
"’ Si”_lL%J ' (B) cos 1(%)
- R
o =) —
ZrHR AR S T §
: Vs B .
tr By
(C i N |
} v _VP IS' !P

V
z P
- h B
[A) s V
Vo :
) 1 (D) - 1;
) V.V, 1
R.C F fEET IF A 3
I ML B MOLOr?
C LT (D M7
A
j B . - ?!_300.3’{59!60‘_; Dape 4 of 32

https://www.bsebstudy.com



Dimenstonal fonmula ol R.Cas

()

(C)

(A)

(C)

TR A

Am

Am

-1

J”(}L[)-I;-U

TE Y A A

() MU r

YA e #1 S | AT ATl #

S.1. unit of pole strength 1s

(A)

(C)

Am

Am™!

THETH AT g ¥F ¥ Tae F [T T =37 75 577 7

{A)

l(_:,J

Work done 1n the deflecuion of a magnet in a unifarm magretic feld 1s

(A)

:C)

- - e sn 5 . = . om -
= 3T J FH TS 720 2T

Al

W=MEB(l-cos{] (D)

W=MEl-s1nb; (B) W="'/Bsinw
VI=AB/1-costE {Th W =2MBcos'-

™= i

W=MB{l-sint) (B]

m

B) Am™°
(D)  Fm
(B} Am™
(D) Fm

. .
T o e -5 =
- E
=) m
.
:E! v =

]
.

|5

-
-

W=2MBsinw

W =ARBcosH

wt

t
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10.

11.

[117]

Which of the following relations is correct for mass and energy ?

(Al m=E B) m’=E
(C) me? =E (D) mz—'g-ﬁ
swie we (8),, H fasmurt wem e &

(A) (1000), - (B) (1001),
(C) (111), _ (D) (110 ),
Binary number of decimal number (8),, is

(é] (1000), (B) (1001),
(C)  (111), D) (110),

NAND 712 &1 ad giar €

w =L - (B)
(C) ‘_'[>o—— (D)

Symbol of NAND gate is

o—
=
w - B o
=)

—-1

© > (D)

-3 I 7,,, v A Fradi § wa g 8

N

(A) Tl;".lzo'ﬁga!‘l _ (.B] T]}2:0.693
(C) T,,,=0693% , (D) T,,=0-693)°
| B |- | 3003-59/60) Page 6 uf_SJ-
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The relation between half-life time S"“2 and decay constant is Y
(A)  T,,,=0-693/1 (B) ﬁ,fg_éﬁ
©) T,,=0-693% (D) T1,2=0-693}?
2. Pt B H o A ) 2 2
A TR 1)  faea-gram fafer
© @i (D)  FTEGMA S
Which of the following is correct for « - particle ?
(A) electron - (B) electromagnetic radiation
(C)  helium nucleus (D) hydrogen nucleus
13, Frfofea # # wieo @@ ¢ 2
. o
W BPu-sRius 4He B)  23¥U-BTh+ iHe
(C) ggﬂu; 209Th+ 3He D) 338U 222Th+ 2He
Which of the _following equations is correct ?
(A)  PU-U+ SHe (B)  33°U— 22%Th+ 3He
€ 33PU-29Th+ 3He D) 228U 282Th+ $He
@ ~ | 3003-(59/60) Page 7 of 32
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(117
Fr=eitEa | ®1 SrR-aee fan & ke e S g wE 2

14.
N J[fﬁ A] -
Mo x r = Mg I{dl)
A) dB=-2 =~ - ro
(_p e - (B) d ax 2
. c—ﬁ A A
. Hg I(dlxr) = Ko [T r
C D —— — ) —
(€  dB == = D)  dB == .
Which of the following is the correct vector form of the cquation.nf Biot-Savart
law ?
- c-il'! A} .
_ Mg I{dlxvr A Ho I(drl)
(A)  dB == — B) dB= 2
- - A A
B I(dIxr) 2 Mg Ir
€ dB=— > (D) dB = - 2
15. fwa g W Taga-g S dar g @
(A} E=Fgq (B} E=F/q
() E=—;—Fq (D) E=gq/F
Intensity of electric field at a point is
(Al E=Fg (B) E=F/qg
C) E=3Fq (D) E=q/F
16.  AEY F JB-97F &Il &
_Q ' _Q
(4) o= B) o=7
© o=y D =04
| B |- 3003-s9/60) Page 8 of 32
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[ 117 ]
Surface density of charge is
Q . Q
A =X =
(A) a A (13) o I
(C) G=% (D) o=0Q- A
17, T d@uifcT s il B &
( rR ) rR
A C = 4 [ -
(‘} b o|7-R, (B) C 4n50[r+RJ
's 2 3 2 A
C - r R - rk |
{' ) C 4REUkr—RJ (D) C 4ﬂEU[r-RJ
Capacity of spherical condenser is
rR rR
A C=4 -
(A) neﬁ(r_R) (B) 8”4“€0(r+RJ
C C=4 r’R rR?
(C) = TLEUr—_-E (D) C=4KE{} —
18. 1 p, & U BT §
u
Ay =2 (B b
Hy Ha
€ ym D) 1
Hiky
1 u, is equal to
. H
TV B L
My Ha
(C) Hs By (D) 1
_ HiHa
B |-13003-(s9/60) Page G of 32
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1 (117
19. e vt 574 aen wfafae dar &
(A) areafas g qr (BY CILGICED TS AL
(€) weafHs e g (D) FAH T I
Image formed on retina is
(A) real and erect (B) real and inverted
(C) virtual and erect (D)  virtual and inverted
20. @I ST BT ATEEA 49T e &
A f
(A — B -2
T ? T
S, J
C - £ D ~£
(€ 7, (D) 7,
The magnification power of Astronomical Telescope is
/ Lo
A il N B ——
(A) 7, (B} 7.
/ Je
C -=£ L)y =
{ } fo fo
21, faAfafea 4 @ i & fmo &1 RO AT R 2
(A) I | (B)  fAEH
[(;} EW'I-&IW (D) W
H [ B ]-[3003-s9/60) Page 10 of 32
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22.

23.

24,

————

117 |

Which of the lollowing is the causc of formation of rainbow ?

(A) Scattering (B)

(C)  Dispersion (D)
frefetaa o A faega- g 5 7@ 2 7
(A) T (B)

) A (D)

Diffraction

Relraction

X-FaRToT

HATF Bl

Which of the following is not electromagnetic wave ?

(A) Light waves (B)

(C) Sound waves (D}
RSV Aerd 0 % AU it ST gl 2
(A)  48-75 (B)

() 37-31 (D)

X-rays

Infrared rays

41-14°

24.41°

Critical angle for transparent medium diamond is

(A)  48-75° (B)
) 37-31 (D)

R ® T TR AT 8

(A) hv (B)

A —

() Jhv (D)

41-14°

24.41

B |- 13003-(59/50)
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26,

Encrgy of photon is equal to

' h
(A) hv (B) "
h
() hv (D) =
Ve &3 I Aol (M) % SE A €
B ™
A = B =
‘ Ho B,

intensity of a magnetising field ( H) is equal to

”t' }10
(A) 4 (B) M
Ho By
[(:J Ift)“t) [D] BU'J'U

Veprsqfettraes T 1 Zeqen ;‘I’T{Nﬁ'f-'w & fem et & 2

W<V, B V>V,

(C) v, =V, () V, << VP

Which af the following is correct for step-up transformer ?

(A) V, = 1'*!, (B) Vy> Vp

© V- vﬂ' m) V<<V,

fave wpar ok feAn udfores ofds e &
(U (B S6FE

- - -.-..]....
{C.) i “” ol

(5] - [3003-ss7001]
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28.

29.

Inductive reactance for direct current is

(A) Zero (B)

(C) oL (D)

MR HZl F1 e g AT g €

(A NA (B)
c (D)
TA

mmfinity

1

L

-
1A
N

Electromagnetic moment of current carrying coil is

A NIA (B)
(LS (D)
A

forger T 1 S0, AR €

(A)  NC (31
{C) N ' (D)
The 8.1 unit of electric mtensity is

(Ay  NC (B)
QN (D)

e ke T —— .

=
L"|:b¢

-

—
b i

N/C

N/ C?

N/ C

N/C?

https://www.bsebstudy.com
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n (117

30 Tt d A & o BT W R 2

i

-

(A; J- 1A B J

!

- A
1Cs J =L
g I

i

—y
N

p-Y

D)y J

Which of the: following is correct for current density ?

Al J=1-A 4
\ B) U=

)y J= —’?- D) J=12A

331 frafrfma g nRfear s o s a2

(A) u*% (B) uzr%
€y p=V,-E D) p=E%v,
Which of the following is correct for mobility ?
Ay . p= ‘%— (B) u=7£f;-
[ peV, E D)  p=E2.v,
qy farafefrga 4 @t e k7
(A) Vb watto 1.ds (B} 1 wett= ) Uy !
{C) | watt = | &V 1 (3 | walt = ) Fs

https://www.bsebstudy.com



n (117 ]

Which of the following is correct ?

(A)  watt=1Js" (B) 1watt=1Vs"

(C) 1watt=1sv" (D} 1watt=1Fs™

33, AN T % &0 FET 9 # FoR F2 w6 A

Ay 3 (B 4

(Cy 5 Ll;)) 6

Colour code of carbon resistance for blue colour is

(Ap 3 B 4
€) s (D] 6

34, UfER-€e A g 8
Ay Wi & (B  3TEY H
€ FH D) fErR &
Ampere-hour is the unit of
(A) power ' (B) charge

{(;] CNCrgy (D} potential difference

35. foafafaa d silenaa & oo e wd @

. .

T -3 -
(A)  Fagiliia Vet (1B) F=~ql}5+'ﬂ; )

» [} 3 ] - b ~b .
() Fa= (EiVx B

- b
(D) FaqE+BxV )

[_[_’L_ ~ 1 3003-(s9/60) ' o

Page 15 of 32
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36.

37

(117 ]
Which of the lollowing is correct for Lorentz force ?
— - -+ - - - -
(Al F=qlE+Vx B (B) F=q(E+V)
-+ -+ = = - - = =
(Ci F=(E+VxB) (D) F=q(E+BxV)
4 TEMZY GOA A HW P BIHE U EA &
(A) 0-25m (B 025cm
(C) 0-35m (D) 0:35cm
The focal length of a lens of capacity 4 dioptre is
(A} 025 m (B) 025 cm
(C) 035 m {D} 0-35cm
Erefeiga i #19 F01-fadgm o & o we 8 2
- H, =K,
W w =t B  w=T—
’ pU - u'y'
, "y, - 1 My, -1
C TR - (D) w =
! ’ p‘f, - “']' uJ" - ulr
Which of the following is correct for dispersive power ?
A el B) ettt
' My I My, - I
TR j, |
r(:, Ww - Mo “J) 1 s “.--!.J.
“,; ' “r ”f ’lf-'
[B]-[003 woea] " e g
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aﬁ'ﬁm%r{aﬁﬁm{p:g]ﬁmﬁmgﬁ fnﬁaﬁ?fm‘#[:u:%}
f, B

A f,=f B)  f,=2f,

€y f,=3/, D)y f,=14S,

If the focal length of a glass lens [p=%) in air is f_and in water [il=

Wl
S
=

f,, then
A f,=f B)  f,=2f,
© =3, D) f,= 4,

Ffeiga 7 #9 d&8y @it s &1 dFar (1) W3R vEe F A () &
fefu W& & 2

A) I 1 B) Tt

¥ }' iﬁz
L 1

(C) T« 3 D) J« o

Which of the following relations 1s correct for intensity of scattered light ( /) and
wavelength ol light (2 ) ?

A T« 3‘- B) -
' }-'-
, ]
) fe M) Je-L
3 2

L ) R ———_ T

https://www.bsebstudy.com



40.

41.

42,

S & 9 T W ST & T adl ) o

(A)  e=1-602 x10716C (B) e=1.602x10"'7C
(€) e=1:602x 10718¢ (D) e=1-602x107'9C
Which of the following is correct for charge on an electron ?

(A) e=1-602x10716C ' (B) e=1.602x10"'7C
(C) e=1-602x10"18C (D) e=1-602x1071%C
ftatas 4 zﬁh Aifeas &1 $EA-Bo= A ¢ 2

(A)  ¢,=2-55 ev (B)  ¢,=2-65eV

(C)  $g=2-75eV (D)  ¢,=2-85 eV

Which of the following is the work-function of sodium ?

(A $,=2-55 eV (B)  ¢,=2-65 eV
©  $p=2:75 &V (D) $=2-85 eV
v & =g de e &

A  A+Z B A-z

© z+% O z

Number of neutrons in nucleus is

[ 117 ]

(A) A+Z (B) A-2
© z+% Dz
[ B |- 3003-(s9/60) . Page 18 of 32
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43.

44,

45.

(117 ]
FfalEd o g1 g & fou &9 8 8 7

(A} (Blasig = (Blazaipr (Bl (Blupiig = 2(B)f.1irg
(C) (Bl = 2(8) aity (D} (Blapim = 3(B)undra

Which of the following is correct for short magnet ?

(A Bloiar = 1B) ecuarora B Bl = 2(8) cqatoria
€ Bleguatorar = 208 axiat (D) Blygar = 3(B) equatonat
(AT TEEE 8 T I qradh o ST H A el
(A)  T=2n J_J— B] T=2n [—%

B, MB,,
(C) T=2xn M’?” (D) T=2x [MB,

Expression for the time-period of a magnet oscillating in a uniform magnetic
field 1s

1 I
(A}  T=2rn|— (B) T=2n
BH MBH
MB
(C) T=2n Li

—1 (0) T=2nJMB,
Frefefaa o w4 ¥ & & 9@ 87 (B,,) 3R g=a1g g2 & 7596 (n)

Fiaw et & ?
(&) n?« B, (B) ne«B,
2 : 2. 1
D A

__Fﬂ — | 3003-s9/60) '

Page 19 o 32
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o

Which of the following relations is correct for earth's magnetic field | B\ and

frequency of magnetic needle {n)?

2

b

“:t n o« BH-. [D} nzq_é_l_"
H

s6  Foafafgs 2 o ¥ fran & oo a@ 2 o

(Al B=B,, tané (Bl B=B,’iang
(€} B=/B,, tant (D) B=B, 1an’®

Which of the following is correct for tangent law ?

(A} B=B, tane (B) B=B,*tan¢
(C} B=/B,, tan6 (D) B=B, tan’6

47 FiEE TEHIIE SE] B §

0y p 5
Ay -y # B L=y F
'u(i }1
t'Cj Mo=pep 3; {D} v H,H =H, qr"

Relatuive permeability is equal to

, p
A =g, (B) %=,
M, H
(Cl mo=poH, D) Yok =4,
(B [-]3003-(s0/60 | . Page 20 of 32
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R I ST T s
as ST LD 3 g a2

—
—

e - . T)° P 4 4 i
{A) H- . By B, (B B4 =0; - By

2 > 1 =

Which of the following relations 1s correct ?

(A) R Hff . B (B3] [T ”;’f . H{':
2 p 3 _ ;H
() B -BL -0, (1) - ._‘(_’_;_;

49, et 9 @9 w8 g qraar GO ®) g &\ s r o

S

(A) c= J Mo € {8) C: J.}T“F:
Ty E‘u-
€ = J o D} = [-2
€0 Mo

Which of the following is correct for speed of electromagnetic wayve 1n vacuum ?

1
(A) c:lfpﬂ €4 (B) [ —

{;1 (e
' == {Dy o= | -
(C) c= | -
€9 ' \ M
noo - = *
50. i & TF R B F AR EAE
(A) 107! TqeT (B}  107° FH=
) 107 TEA o) 107° FE
T B |- | 3003-1s5,601 |

| S fage Il af 32
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2.

it ————————— L —— b et

[117 ]

) -
The value of B on the surface of the earth is

(Al 10" tesla (B) 1072 tesla
) 10 3 tesla D) 107° tesla
HRTETE] Heelt &7 faegd-gretg syol @ ¥
- -~

2 NA 2> A
[A} m =—-— = —
» I (B) m NI

. -
€ m=NIA D) m =%

Elcctromagnetic moment of current carrying coil is

( -NA =4
ny m=ts B m=Z
e

- - -
(C) m=NIA D) m =iN£

fefefaa | @ feaaniey fradie & fon ger ¥ 2

C C{B)
(A) WA (B) NA
" al A N
@ o 5p) ® < 75)

Which of the following is correct for galvanometer constant ?

O :(?[JBJ
A AR U 7
. (A Jf N
©  (55) () “'f.:a}?)

S i i s e

P

B3 |- |3003-39/60) | llpr J).' of 32
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- (117 ]
53, ITR¥ UHtEX 1 uferdy @ &
A T B) A
(C) 100 HW (D) 50 W
Resistance of ideal am;neter is
@ infinity B o
(C) 100 ochm (D) 50 ohm
54, IrEIhId Tl 1 S.1. T & €
(A) AT B) dE
(C) 2Fem : (D) 9
S.I. unit of magnetic flux is
(A)  weber (B)  watt
(C) tesla (D) joule
55. o &1 [5aq feas 9n & feer 1 qiom ¥ 2
(A)  HX (B) Fa&m
© st (D) 3Ew
Lenz's law is the result of which principle of conservation ?
(A) Current | (B) Momentum
i) Energy (D) Charge
e B |- | 3003-s9/s0) Page 23 of 32
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s6. Dfurs wfeamE ®ET &
(A) X, =2nL

©) X, =2nfL?
Inductive reactance

(A) X, =2nfL

(€ X, =2nfL?

B) X, =2nfL

2,2
D) X, =2nf>L

1S

B) X, =2nf%L

D) X, =2rf21?

57. GE GEERY W SEET &THA B &

. oL
(C) M=1- D

®) M=]+——?—
(D) M=1+—£—
(B) M=1+—?—
(D) M-=l+%

s ddfera a1 eidi # ol g 8

o e e =

D) P=P (P, + P)

[117 |

i S S

J}J - 13003-59/60)
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60,

61,

Power of two lenses in contact 1y

(A P=P P,

Hi?: }Eﬂ = 3[2 {1 W, = 413 7 W y

(A 2
. 9
(SR

M p,=3/2 and p, =4/3 then ¥y,

(A) 2
9
(C) 3

kT & Tem wifas S e 2
(A 20°
(C) 48

Critical angle for glass is
Ay 207

) a8
{regar- ererpr @it o wgita et @
(A, HPE

Q) (A) AT 13) T

(B)

(D)

AR A
i

(B3)

(D)
is

(B)

(2)

(B)

(D)

(B)

()

(13)

(1)

P‘:rF“E x P‘2

P=P (P, + P)

bS] —

O oo

ST

elfeq

30°

42¢ (FATa)

30°

42° ( ncarly )

IR
fere[ery

(117 ]
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n [ 117 ]
Nature of electromagnetic waves is
(A}  transverse (B) longitudinal
(C)  both (A) and (B} (D) electrical
62. TuTH & 99 F e O ¢
] _sin[A+5m] _ sinA/2
N T Y.V B = Gn(ars,)
A+d
: m
_ sm[ 2 } D _ sinA/2
s1n
2
The refractive index of material of the Prism is
sin(A+3, ) sinA/j2
= B -t
(ﬁ] H= smA,r'2 (B) H sm[.&+5m]
. [A+8,,
sm[ 2 ] D) peSinAL2
€ r=—"Fna/2 =" (A"'Sm]
sin
2
63. TG UY & U@ @
eI
(A)  STIEAAE x 9 @l et (] (B) E———
g & oar
(©) T4 ARG D) —— -
B |~ | 3003-is9/60) Page 26 of :_;E
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64.

65.

[ 117 ]
Optical path 15 equal 1o

(A) Refractive index « Length of path

Refractive index

B
®) Length of path

(C) Length of path

Length of path
Refractive index

(D)
Fa #1 WEGAS 8 7

(A)  8-85x107'2 F/m (B) 8-85x107'! F/m

(€) 8-85x10'2 F/m (D) 8-85x10'! F/m
The permittivity of free space 1s

(A) 8-85x107!'%? F/m (B) 8-85x107!' F/m
(C) 8-85x10'? F/m (D) 8:85x10'' F/m
r[e-feya &1 S.1 A B &

(A} CN (B) Cm

(@ C (D)

|0

S.1. unit of cleetric dipole is

(A) CN (B} Cm

o (D} %

B [~ {3003-(s9/60)
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1117

66, Hoid ER F |AW I EA &
> 1 99, = 1 99
(A F= - r B) F=g —
4n €, 1—; l3 4n €, |7 13
21 997 2 1 9% 7
(C) F=- - r (D) F= :
The vector form of Coulomb's law 1s
g 1 949, 2 -_ 1 9,9
(A) F= . r (B) F= e =
4 EU I _; 13 (4] I r |3
= 1 9,9, = 1 99 7
{C) F= e 4 (D) F= —
dn €, 72 an €, |7 ‘2
67. Tndl aTets i wIEl g &
v
(A) C=qw | =7
_g
(C) C= —;-q v (D) C= ”
The capacity of any conductor 18
=X
(A} C=gq'v B C a
_g
© C=iqv D) C=2
68, SR AT HI FHeoAl Al §
] B) E==cv?
(A}  E=5C-V (B) =3
(C) =%CQV >y E=C.V
| B |- | 3003-(s9/60) Page 28 of 32
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nergy of a charged conductor s

(A) r .!{(1 ) (B) 1';‘:-%(.‘11’"2
() f_::-éc'-’v D) E=C-V

(117 |

69. Af AT witdn ¢ F n HRA TR wF 9 g T3 A7 T i g
C
A) =1 (B) C=-—
C, n
(C)  C=nC, (D) C=n?C
If n capacitors of equal capacity C, are connected in parallel, the equivalent
capacity will be
C
A) c=L (B) C=—
C1 n
(C) C=nC (D} C=n’C
70. 19 % {0 TR 9 BT @
(A)  3x10% vm ™ (B) 4x10%® vm~!
(C)  5x10° vim ! (D) 105 vm-!
Dielectric strength for air is
) 3x10°% vm™! B) 4x10° vm-!
\ = f; - :
{C) 5x10” Vm ! (D) 108 v -1
| B ]— 3003-ts9/80) Page 26 of 32
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WUg - § / SECTION - B

Y IAE U / Short Answer Type Questions

[ 117

W#W1ﬁzoa§raaﬁw?1ﬁﬁ"fmwwf$m$fm$ﬁqzafa;
Freffea & :

Question Nos. 1 to 20 are Short Answer Type. Answ

1.

t

N

6.

7 K

10 X2 =20

er any 10 questions. Each question

carries 2 marks : 10 x2=20
fargd o a1 #E ? 5
What is clectromagnetic wave ?
FReH a6 T & ? 2
What is Lorentz force ?
Write down two uses of potentiometer.
i & TR #A ¥ GAE F 9ee | 2
Explain parallel grouping of resistors.
HreTT & FadATE W 3T T HAd € 2 2
What do vou mean by refractive index of medium ?
AT @1 T o | 2
write the definition of wavefront.
e i Reffa & 3 A FEAA € 2 2
What do you mecan by end-on-position of a magnet ?
fergda fava & otrure fed | 5
Write the definition of electric potential.
- [B ]~ |3003-1s9/60) Pame 30 a2
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12.

13.

17.

1}.

19.

8

T (o ) R0 & ot =1 fordy
Write two properties of g]pha (o) rays.
framtt si® vl # v

Explain binary number system.

T o At fegiqur = woe |

Explain dispersion of light.

T & faeed d AW e € 2
What do you mean by diffraction of light ?
it wiowrs # T

Explain capacitive reac;ance-

Tt AR dien G o forg e vy W R Fe g

(117 ]

Write colour code of carbon resistance for orange and yellow colours.

TP SV H FEHE | https://www.bsebstudy.com

. Explain magnetic moment.

T IV I e o |
Write the definition of angle of dip.
TEHY o Y IR 0 S 1 A ferd |

Write down the definition and S.1. unit of magnetic flux.
NOT 8T OR R ! erel RN aen Sy o |

Write the truth table and Boolean expression of NOT and OR gate.

YT WO T TagrT R 2

What is the principle of conservation of charge ?

SR TR ¥ I R E

What do you mean by apparent dip ?

B |- [ 3003-s9/60)
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e 3edig 99 / Long Answer Typs Questions

m#wzj#zsa%mmirwsnﬁ*mflm*%?
sahrﬁufﬁ;r?: .

3X85=]5
Question Nos. 2] o 26 are Long Answer Type Questions. Answer any 3 questions. Each
question carries 5 marks 3x5=15
21. W%ﬁ@ﬁﬁﬁﬁmmﬁwmwﬁl 5

Find out the expression for equivalent focal length of two lenses in ¢

ontact.
22, mﬁmmfﬁﬁaﬁﬁm%wmmﬂﬁl

Establish expression for the width of the interference fringe.

23, mﬁwﬁsmaﬂtmmwm 5

Explain construction, working and uses of a transformer.

24, w%m%wmﬁmm%%mmwﬁqﬁﬁlhﬁmﬁﬁﬁt
TS | o9 wer ¥ o 5
Establish expression for heat produced in a conductor due to flow of current.
What do you mean by electric power and electric energy ?

25

hﬁu%ﬁﬁ:ﬁwmqmﬁaﬁ%mmwﬁaﬁl

S
Establish expression for magnetic field at equatorial position of a magnet,
26. T & 9T H ford e =@ v w5 5
Write down Gauss's theorem and prove it.
B B |- |3003-s9/60) Page 32 of 32
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